
BID TABULATION ITB 50-20 GUARDRAILING COMPONENTS

SANDRA TELLIS
PRINCIPAL BUYER
PHONE:  205-325-5382

13-Jul-20

LINE# PART # DESCRIPTION PRICE NEGOTIATED

1A $18,400.00 $1,800.00 
$23.00 $22.50 

$ $
2 9G 12/12’ 6”/6’3” W-Beam Guardrail $75.00 $73.50 
3 30G 12/12’ 6”/S W-Beam SRT-1 ANC Guardrail $253.00 $250.00 

4 39G 12/12’ 6”/S W-Beam SRT-2 Guardrail $253.00 $250.00 

5 700A Cable Anchor Bracket $46.00 $45.00 

6 907G Half Round Rolled End Buffer Galvanized $80.00 $78.00 

7 3000G 6’6” Cable Double Stud Cable $120.00 $118.00 

8 3240G 5/16” Washer at Post 1 $0.10 $0.10 

9 3300G 5/8" Flat Washer $0.25 $0.25 
10 3340G 5/8" Hex Nut $0.40 $0.40 
11 3360G 5/8" x 1-1/4" Splice Bolt $0.45 $0.45 

12 3360G 5/8" x 1.25" Hex Head Bolt $0.45 $0.45 

13 3380G 5/8" x 1.5" Hex Bolt at Strut $0.70 $0.70 
14 3400G 5/8" x 2" Post Bolt at Post 2 $0.80 $0.80 
15 3500G 5/8" x 10" Post Bolt $1.70 $1.70 
16 3900G 1" Round Washer at Cable $0.75 $0.75 
17 3910G 1" Hex Nut at Cable $1.70 $1.70 

18 4076B 6" x 8" x 14" Routed Wood Block $14.50 $14.00 

19 4211G 5/16" Hex Head Bolt at Post 1 $0.60 $0.60 
20 4389G 7/16" Flat Washer $0.20 $0.20 
21 4390G 7/16" X 1.5 Hex Bolt $0.45 $0.45 
22 4393G 7/16" Lock Washer $0.25 $0.25 
23 4396G 7/16" Hex Nut $0.45 $0.45 

24 6665B 16" x 16" Yellow/Black Striped Reflective Sticker $15.00 $15.00 

25 6772B Patent Label SRT-350 $0.00 $0.00 

26 9960G Slot Guard Bracket $46.00 $45.00 
27 14578G 6' x 6" SYT Post $78.00 $76.00 

28 33909G Cable Anchor Bracket at Post 1 $25.00 $24.50 

29 34050G 1/4" x 3" x 3" Angle Strut $79.00 $77.00 
30 34052A CR Post 1 Bottom $385.00 $375.00 
31 34054G Post Shelf Angle at Post 2 $46.00 $45.00 
32 34056A CR Post Top $310.00 $300.00 

33 36101A SRT-27 CAN SS-446 $460.00 $450.00 

34 36101L SRT-27 Hardware Parts Can $460.00 $450.00 
35 620294B Assembly Manual SRT-27/31 $0.00 $0.00 

$2,777.80 $2,717.80 GRAND TOTAL (SRT-27); ITEMS 1-35

(COMPLETE) SRT-27 (Complete End Anchor)

1 7G 12/6” FLG Protector at Post 2



BID TABULATION ITB 50-20 GUARDRAILING COMPONENTS

LINE# PART # DESCRIPTION PRICE NEGOTIATED

1A (COMPLETE) ET-Plus (Complete End Anchor) $2,300.00 $2,250.00 

1 9G 12/12' 6"/6'3” W-Beam Guardrail $75.00 $73.50 

2 32G 12/12'6"/6'3"/S WT 2000 ANC W-Beam Guardrail $260.00 $255.00 

3 704A Cable Anchor Bracket ET-2000 $84.00 $82.00 
4 995A ET-Plus Extruder Head $1,000.00 $950.00 
5 3000G Cable 3/4"x6'6 Double SWG/NOHWD $115.00 $110.00 
6 3300G 5/8" Washer F844 A/W $0.25 $0.25 
7 3360G 5/8" GR Hex Nut $0.40 $0.40 

8 3360G 5/8" x 1-1/4" Splice Bolt $0.45 $0.45 

9 3500G 5/8" x 10" Post Bolt $1.70 $1.70 
10 3701G 3/4" Round Washer F436 $0.40 $0.40 
11 3704G 3/4" Heavy Hex A563 DH $1.15 $1.15 

12 3717G 3/4"x2.5" Hex Bolt A325 $2.40 $2.40 

13 3900G 1" Round Washer F844 $0.75 $0.75 
14 3910G 1" Hex Nut A563 $1.75 $1.75 
15 4699G 3/4" Lock Washer $0.35 $0.35 
16 6777B 4"x7.5"x14" Polymer King Block $5.50 $5.25 
17 6852B Patent Label ET-Plus $0.00 $0.00 
18 14578G 6' Post/8.5#/SYTP $80.00 $78.00 
19 19258A HBA-BRG PL/Welded Tabs $52.00 $50.00 

20 33726A ET-Plus Hardware Parts Can-50',12"6" HBA/SYTP $500.00 $490.00 

21 33743L ET Hardware Bag $25.00 $24.50 
22 33743A ET- Plus Can-50',25', 1 HBA/7SYTP $500.00 $490.00 
23 33795G SYT-3" Anchor Strut 6 HL 6'6 $85.00 $83.00 
24 33871A ET HBA P1 Top X 2-8.75" $130.00 $127.50 
25 33873A ET HBA P1-2 Bottom X 6-1.5" $170.00 $165.00 
26 620292B Manual, Assembly, ET-Plus $0.00 $0.00 

$3,091.10 $2,993.35 

LINE# PART # DESCRIPTION PRICE NEGOTIATED

1A (COMPLETE) Type 13 (Complete End Anchor) $1,500.00 $1,470.00 

1 3G 12/12"/Backup $12.50 $12.25 
2 9G 12/12'6"/6'3"/S $85.00 $83.00 
3 60G 12/25'/6'3"/S $150.00 $147.00 
4 926G 10/End Shoe/Extra Hole $40.00 $39.00 
5 3135B Wood Block 4.5x 4.5x14 $12.00 $11.75 

6 3136B Wood Block 4.5x6x14 $12.00 $11.75 

7 3137B Wood Block 4.5x7x14 $14.00 $13.75 
8 3300G 5/8" Washer F844 A/W $0.25 $0.25 
9 3320G 3/16"x1.75"x3" Washer $1.30 $1.30 
10 3340G 5/8" GR Hex Nut $0.40 $0.40 
11 3360G 5/8"x1.25" GR Bolt $0.45 $0.45 
12 3400G 5/8"x2" GR Bolt $0.80 $0.80 
13 3435G 5/8"x3.5" GR Bolt A307  2.5"T $1.35 $1.35 
14 3460G 5/8"x6" GR Bolt A307 $3.40 $3.30 
15 3475G 5/8"x7.5" GR Bolt A307 $2.25 $2.20 
16 3500G 5/8"x10" GR Bolt A307 $1.75 $1.75 
17 3726G 7/8"Round Washer F436 $0.50 $0.50 
18 3742G 7/8" Hvy Hex Nut A563 DH $1.70 $1.70 
19 3900G 1" Round Washer F844 $0.75 $0.75 
20 4076B Wood Block RTD 6x8x14 $14.50 $14.25 
21 4840G 7/8"x12" Hex Bolt A307 $15.75 $15.40 
22 6068B Wood Block 4.5x3x14 AL $8.50 $8.25 
23 10050G 12/12'6"/Bridge/Bent $145.00 $145.00 

24 14797G 6'6 Post/8.5#/DB/ADJ/3:2:2 $50.00 $45.00 

25 14842G 6'6 Post/8.5#/Wood Block AL $52.50 $50.00 
26 19889G 1/2"x12"x12" Bridge Backup Plate $45.00 $44.00 

GRAND TOTAL (ET-PLUS); Items 1- 26



BID TABULATION ITB 50-20 GUARDRAILING COMPONENTS

27 24901G 7'6" Post/W8x13# (GP212A) $120.00 $117.50 

$791.65 $767.65 GRAND TOTAL (TYPE 13); Items 1-27



BID TABULATION ITB 50-20 GUARDRAILING COMPONENTS

LINE# PART # DESCRIPTION PRICE NEGOTIATED

RADIUS RAIL 
1 1005G 5' Radius Concave/Convex Rail $350.00 $345.00 
2 1010G 10' Radius Concave/Convex Rail $300.00 $295.00 
3 1020G 20' Radius Concave/Convex Rail $175.00 $170.00 
4 1030G 30' Radius Concave/Convex Rail $150.00 $145.00 
5 1040G 40' Radius Concave/Convex Rail $150.00 $145.00 
6 1050G 50' Radius Concave/Convex Rail $130.00 $125.00 
7 1060G 60' Radius Concave/Convex Rail $150.00 $145.00 
8 1070G 70' Radius Concave/Convex Rail $150.00 $145.00 
9 1080G 80' Radius Concave/Convex Rail $130.00 $125.00 
10 1090G 90' Radius Concave/Convex Rail $150.00 $145.00 
11 1100G 100' Radius Concave/Convex Rail $150.00 $145.00 

$1,985.00 $1,930.00 

LINE# PART # DESCRIPTION PRICE NEGOTIATED

1A

1 11G SYSTEM RAIL, 12’-6” $75.00 $73.50 
2 533G 6’0 Post/8.5/DDR $85.00 $83.50 

3 6565B PLYMR BLK 4X8X14 W/HANGER $7.50 $7.25 

4 15000G 6’0 SYT PST/8.5/32” GR HT $100.00 $95.00 

5 15202G SFST-ANGLE STRUT $95.00 $92.50 

6 15203G SFST-POST#1 SYTP $90.00 $87.50 
7 15204A SFST-ANCHOR PADDLE $120.00 $115.00 
8 15205A SFST-POST #0 $390.00 $380.00 
9 15208A SFST-IMPACT HEAD $1,375.00 $1,350.00 
10 15215G 12.5’SFST ANCHOR G. RAIL, 25'0" $475.00 $465.00 
11 34429G SFST-CAN SS-646/SS-673 $475.00 $465.00 

$3,287.50 $3,214.25 

LINE# PART # DESCRIPTION PRICE NEGOTIATED

Miscellaneous PARTS
1 9G 12'6" W-Beam Rail $87.50 $85.50 
2 60G 25' W-Beam Rail $175.00 $172.50 
3 566G Universal Post $55.00 $54.00 
4 3330G Bolt-on Triangle White Reflectors $4.50 $4.50 
5 6665B 16"x16" Yellow/Black Stripe Reflective Sheeting $16.00 $15.00 
6 6668B 12"x12" Yellow/Black Stripe Reflective Sheeting $16.00 $15.00 
7 6777B 4"x7.5"x14" Polymer King Block $6.00 $6.00 

8 14797G 6'6 Post/8.5#/DB/ADJ/3:2:2 $50.00 $49.00 

$410.00 $401.50 

RECEIVED REQUIRED DOCUMENTS
YES NOTIFICATION OF INTENT 
YES NON COLLUSION
YES AFFIDAVIT OF CONTRACTOR
YES EEOC FORM
YES DEBARMENT STATEMENT
YES SIGNATURE PAGE

VENDOR: ALABAMA GUARDRAIL, LLC
PHONE:  205-625-3880
FAX:  205-625-3879

CONTACT:  LES NEEL

$2,350.00 

GRAND TOTAL (RADIUS RAIL); Items 1-11

$2,350.00 

GRAND TOTAL (SOFT STOP);  Items 1-11

GRAND TOTAL (SOFT STOP); Items 1-8

“SOFT STOP” or MASH Compliant  
Guardrail (Complete End Anchor) 

(COMPLETE)


	Sheet1

